normalized X?

Ratio

< x2/ ndf >

Ratio

< x2/ndf >

107}

1072

chi2
Entries 1001
Mean 1.337
Std Dev. 0.7311
PR
chi2
Entries 1000
Mean 1.342

Std Dev 0.739:

0 2 4 6 8 10 12 14 16 18 20
2

X

1.8

1.6}

1.4

1.2

1

0.8]

:|:E A IJ }

T
——
"'_'_.

[ normalized x? probability |

Chiz_prob

Entries
Mean
+ . Lstd Dev

1001
0.3753
0.331

PR
Entries 1000
03739
0330

WHHH I

Prob()(2

== DQM_V0001_R000000001__Global_

mkFit_lkstable

=== DQM_V0001_R000000001__Global__mkFit_CAND1kstable

L)

T

0 1 2 3
n

< X2/ ndf >

i
T T[T [T [T T I [T TIT T

Ratio

1072

-1
AR(track, jeltS)



	Contents
	Page 1


